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A2 SHIKSHA CLASSES

Subject : Algebra
Class :X

ANSWERS PAPER

1. Linear Equations in Two variables

Total Marks : 20

Q. 1 a) Choose the correct alternative of the

)

following question.

1) The index of variables in linear equations
is always -——-- .

Ans.: ¢)One

a b

c d then value of determinant is

2)If

Ans. : b) ad-bc

B) Write any 2 linear equations in two

(1)

variables.
Ans.:1) 5x+3y+9=0
1) 2x+3y—-12=0
Q.2 A) Attempt any ONE of the following. (2)

1) Find the value of determinant

23 3
2 383

A=

Ans. : [2\/§X3\/§]—[2X3]
[ 6x33x3 |-[6]

:[6xJ§]—[ﬂ

=[6x3]-[6]

=18-6=12

2) For simultaneous equations in variables x
and y, Dx =49 Dy =-63 and D=7 then find
x andy.

Ans. : Dx=[49],Dy= and D =

. Bycramer's rule
ox [l o by [e
x=7 T y=-9

Q.2 : B) Attempt any ONE of the following. (2)
1) Solve the simultaneous equations

3a+5b=26; a+5b=22.

Ans. : Given equation are
3a+5b=26
a+5b=22

Subtract eq” (ii) from (1)

3a+ 56 =26
at 55 =22

~(i)
(i)

2a =4

a=—=2
2

Puta=21ineq" (i)
3x2+5b=26
6 + 5b=26
5b=20

=5

b 4




a=2andb=4.
2) Solve simulataneous equation by cramer's
rule.
3x — 4y =10;
3x—-4y=10
4x+3y=35

4x + 3y =5.
Ans. :

=3x3-(-4)x4
=9+16
=25

3 -4
D=
4 3

=10x3—-(—4)x5
=30+20
=50

10 —ﬂ
Dx =

5 3

=3x5-10x4
=15-40
=-25
.. Bycramer's rule
Dx 50

X = Y = 55 =2

Dy_—=2_,
D 25

Sx=2,y=-1

Q.3 A) Solve Any ONE of the following. (3)

Dy =

3 10
4 5

1) Complete the following tables.

Ans.: Hx+y=3

x=4 -y=4+1 -y=4
-y=35 y=-4
y =-5

X -1 0

y 0 —4

(x.¥) [[(4,0)| | |-L-5] | (0.—4)

2) Solve the following by Cramer’s rule.
4x +3y -4 =0; 6x =8-Sy

Ans.: 4x+3y=4

When,

1)x=3

)y=>5

iii) y =3

3+y=3

X+5=3

x+3=3

y=3-3

x=3-5

x=3-3

y=0

X=_

x=0

X 3

y o] 5 3
(x3) | (:0) (03)
IHx-y=4

When, i) x-y=4 ii)x-y=4
x-0=4 -1-y=4

iil) x- y=4
0-y=4

6x +5y =38
4
D=+ 3%{4x5)—(6x3):20—18=2
6 5
4 3
Dx:8 5:{4x5y43x3)=20—24:_4
4 4
Dy=6 8:44x8y{4x6):32—24:8
. By Cramer's rule.
x=2x_%_
D 2
Dy 8
=—2=—=4
"D 2
Sx=—2,y=4

Q.3 : B) Solve Any ONE of the following. (3)

1) The sum of two numbers is 60. The greater
number is 8 more than thrice the smaller
number. Then Find the numbers.

Ans. : Let the two numbers be x and y (x >y)

.. By first condition




x+y=60 (D)

.. By Second condition
x=3y+38
Sx—=3y=8 (2)

Subtracting eq”(2) fromeq” (1)
X +y=60 (D

K -3y ———
— + —
4y=52

=

sy=13

-, Puty=131ineq"(1)
Xx+y=60

x+13=60

x=60-13

x=47

. Theno.s are 47 and 13

2) Complete the following activity to solve
simultaneous equations.

Ans. : 5x+3y=9

Let's add equation (I) and (II)

5x+3y=9
+2x-3y=12

[l =[21]

x=5=2=3 x=3]
B

putx=3ineq" ()
5x[3]+3y=9
3y=9-[15]

3y =[-¢]

—6
3

y:

y=
.. solutionis (X,y) = (,)

Q. 4: Solve Any ONE of the following. (4)

Ans. :

1 1

Substituting "~ = aand =b

y+3
. 27a+31b=85 3)

31a+27b=89 I O
Adding eq"s (3) and (4)

27a+31b =85
+ 3la+27b=89
58a+58b=174

Divide by 58
atb=3 )
Subtracting eq"(3) from (4)




3la+27b=89
—27a+31b =385
4a —4b =4
s.a—b=1 (6)
Adding eq"(5) and (6)
a+/k{:3
a—}o/zl
2a =4
a=2

~.Puta=2ineq" (5)

a+b=3

2+b=3

b=3-2=1

Now Re-substituting the values
1 1

a= b:

X—2 y+3
2_ L 11
1 x-2"1 y+3
2(x-2)=1 y+3=1
2x—4=1 y=1-3
2x=1+4 y=-
x=5/2
sox=5/2, y=-2

2) The perimeter of a rectangle is 40cm The
length of rectangle is more than double it’s
breadth by 2. Find length and breadth.

Ans. : Let the length of rectangle be x cm and
breadth be y cm.

. Byfirst condition
2(X+y)=40
X+y=—o
Y 2
Sx+y=20 (1)

By second condition

x=2y+2

Xx—2y=2 (2)
Multiply eg" (1) by 2
2(X+ y)=2><20
2x+2y=40  (3)
Adding eq"s (2) and (3)

x—2§ =2
2x+ 24 =40

3x =42
_¥

3
x=14
Putx=141ineq*(1)

X

SoXx+y=20

14+ y=20

y=20-14

y=6

nx=14,y=6

.. Length of rectangle is 14cm. and
breadth is 6cm.

Q. 5 : Attempt any one of the following.

©))

1) Solve the following simultaneous equation

99x + 101y = 499, 101x+99y = 501.
Ans. : 99x +101y = 499 (1)

101x +99y =501 (2)
Adding eq’s (1)and (2)
99x +101y =499

+ 101x+99y =501
200x +200y =1000
Divide by 200

SX+y=5 3)
Subtracting eq"s (2) from (1)




99x +101y =499
— 10Ix + 99y =501
—2x+2y=-2

Divide By -2
Lxty=-1__ 4
. Again adding eq” (3) and (4)

,z(+y:5

- ,z(+y:—l
2y=4

sy=4/2 y=2

puty=2ineq" (3)

XxX+ty=5

x+2=5

x=15-2

x=3

Sx=3,y=2

2) solve the simulataneous equation
graphically.
x+ty=0 2x-y=09.

x+y=0 2x-y=9

Ans. :
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